
C2 Proficiency Reading & Use of English Test Sample 1 Answer key  

Part 1 

1 B 

2 B 

3 D  

4 A  

5 B  

6 D  

7 B  

8 C  

Part 2 

9 enough 

10 incapable 

11 on 

12 up 

13 with 

14 extent / degree 

15 ahead / forward 

16 giving 

Part 3 

17 scarcity / scarceness 

18 genetically 

19 occurrence 

20 sensitivity 

21 spectacularly 

22 advantageous 

23 progressively 

24 evolutionary 

Part 4 

25 were instructed / told to | make their way 

26 not to take sides / to avoid taking sides | in the argument 

 



27 success is under threat | because of lack  

     success is under threat | because of a/the lack  

     success is under threat | due to lack  

     success is under threat | due to a/the lack  

     success is under threat | owing to lack  

     success is under threat | owing to a/the lack 

28 was not / wasn’t | open to further  

29 matter how | late it is/’s  

     matter how late it may be / late it might be  

30 caught a glimpse / caught sight | of Emma  

Part 5 

31 C 

32 B 

33 D 

34 A  

35 A 

36 C 

Part 6  

37 F 

38 D 

39 H 

40 A 

41 C 

42 E 

43 B 

Part 7 

44 C 

45 A 

46 B 

47 D 

48 A 

49 B  



50 D 

51 A 

52 A 

53 C 


